FIEY—J RS- IBALN—F A MESE

AJ 1 Ay 21375 3 KF i i ) B8 | Bk | kx| = Civ
1 #RASSS 2%2 2(_30 4 1 1 0 4 2 2 1
2 [FANAY 2%2 ;3 1 0 1 1 4 5 | -1 3
3 KFEELIN sz 3(_32 3 1 0 1 3 4 | -1 2
4 $5MH 5 Kt 6 Ak B i ) B | Bk | XR| = Civ
4 SEENAZY 1(_30 1%1 4 1 1 0 2 1 1 2
5 JIL YA 0?1 sz 0 0 0 2 0 3 -3 3
6 FEN > 1%1 2(_30 4 1 1 0 3 1 2 1

7EEME  8/UR | omME | B B 9 B @R %R =B iz

. A o
7 BB 1 30 4 1 1 0 4 1 3 1
A o
8 JURSSS 1 51 4 1 1 0 3 2 1 2
[ ] [ ]
AY A -
9 FIfitzLY> 0-3 > 0 0 0 2 1 5 4 3

108 | 118 | 1244 | Bx | B | 9 | 8 e xx]| = iz
10 #sREL A o 3(_30 6 | 2| o | o s | o] s 1
11 FCHIZ sz o%o 1 0 1 1 0 2 | -2 2
12 ALY gl o 1 o | 1| 1| o | 3| -3 3




FIEY—J RS- IBALN—F A MESE

1S~ B8
BN
1(3) | 1(4)
1 0 B7 0 1
A5 B5
ALf B14 Ci D1z
IESSS AENAY BB BREL N
| A7
5 0
iL/C— k3
AN
24)0— b B
FCEZ
| 5
0(2) 0(3) AG 0 | 4
A4 | ‘ B4 I
A24iL B24iL C21iL D241
KEELIK SHENL LS JUESSS FCETT
| o6 |
3 | 2
3/t b
LYY
3(3) | 3(4)
1 6 co 1(3) 1(2)
c4 D4
A3z B34t C31t D3fir
AR J1L YA LYY HR A
D6
2 1




